SplashLearn

Identify the Numbers to Solve

Identify the correct numbers and write a multiplication sentence for each
part.

Richard bought 4 packets of crayons. There are 6 blue crayons and 4 pink crayons in
each packet.

Total number of blue crayons : X

Total number of pink crayons : X

Ben made a painting. There are 2 identical monsters in his painting. Each monster has
2 horns and 4 hands.

Total number of hands : X =

Total number of horns:: X =

Sandra buys 3 packets of candies. There are 5 pink candies and 2 blue candies
in each packet.

Total number of blue candies: X =

Total number of pink candies : X =




